
PROBLEMAS DE QUÍMICA

RED-OX       

EXEMPLO 3: Cal é o axente oxidante e cal é o axente redutor nas seguintes reaccións?

0                0                 +2    −1  

Zn + Cl2 → ZnCl2
reductor  oxidante

          oxídase           redúcese

+2    −2           0                  0           +1   −2     

CuO + H2 → Cu + H2O
oxidante      reductor

                redúcese            oxídase

   +2  −2         0                    +4   −2     

2 NO + O2 → 2 NO2

 reductor      oxidante

                   oxídase       redúcese

     0                 +1  −2                   +1   −2  +1         0   

2 Na + 2 H2O → 2 NaOH + H2 
 reductor       oxidante

                           oxídase              redúcese
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